Linear Inequalities Review

* Solve the following inequalities: )
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Solving Quadratic Inequalities

+ Section P7: p54-59

Graphically
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* Find the zeros (by factoring) Y P"gbo\,e_

z + Find the parts of the parabola that satisfy the +he %- a5
inequality (either above the x axis or below
the x axis)

2« Find the corresponding x values

=G (A E) >0 ey
A ) roeans s of fhe
/ poraelsola above
4}!& }f 0,_,)({5 .

(=00 ~3) U (,00)

Solve the Quadratic Inequality
Algebraically
x2—x—-12>0
\ * Factorit and find the zeros

2~ + Draw a number line (or table) and locate the
zeros

2« Fill out the signs for each factor, then find the
sign of the whole expression

L« Choose the correct interval
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Example 4 p55

2x%2+3x <20
-2 -2
* Solve the above inequality graphically and
algebracailly

Graphically
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